TR ERTEZR (R01)
T=HE4 | R7BTL S8 g - By T (VTR XSy )1l
THEX5y LR
THXSy - THE - Rl - ) Biks HLAZ ¥ (mifa)) R (4D KB e
e )
[%87)11]
= 1
)+
= 1
BT

= 1

PR (FE4R) R 1 i e 2. 5mAi
m3 10

LT L
m2 40

e LT
= 1
E¥+T

= 1

PRAE Y (A1) TE D
m3 90

PRAE TE D
m3 40

HRR L TE
m3 20

HREL &
m3 20

fit TRE TS AET D THRORHE

=N

i




TR ERARE (AR01)
T=HE4 | R7BTL S8 g - By T (VTR XSy )1l
THEX5y LR
THXSy - THE - Rl - ) Biks HLAZ ¥ (mifa)) R (4D KB e

B IE
m2 13

R B GRS EAIR Y L&)
m3 70

Vs ey U
m3 70

RS T
= 1
AR IR T

= 1

15/ A1k T
= 1

25/hAIET
= 1

R (3R T

= 1

A FRA TR R A
m2 71

A - EsAay )=} 277 =M 18-8-40 (7 47)
m3 12

FLIARS BEIAM B B TyvaTs RC-40
m3 37

i L&A 3 AR D THEOREA -2 - IR




= L. B39\
T HE e

fhZe (AR01)

T4 | R7M L& B B - 58 L RO PaefRY) FEXS SEIPI S
TEXS e
THFXSy - TFE - FER - A5 ks BT o (il HE (5E) Bk T 2
Bt 7 ) —k
m 19
K=z 77—k
m 19
AT
=, 1
EE SRR RE T, i T RAR : 100m2 A
m2 41
MET
= 1
Haf
m2 11
A= 27 U—h
m3 1
FR[E & T
= 1
HR[E ST ny) T
=, 1
THIZARE D7 ny ) SUE 77y ) RERR (U A UESEAY 77 ny ) FE
H(FEER) 0.5t
i 44
RE DT ny ) fEfT 7wy ) AR (B AR 7 ny ), 7 ey)
FESEH (BB &) 0. 5t, 7 ny /A E L
i 44
e RS mAET D RO -3 - T IR




T

=Y

RfEZR (AN01)

H

TH4 | R7B(E ZEP)IMb Brg - BrEF 1 TF GRVFHERR) HEX S 7)1 e fes
THEX5y LR
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e
AR 67" ny ) 8 i THIEARE 07" ny )i 2. 5tLLT, F
JE DXy AHIA T~ A ), AR A - 74,
BRI 7. OkmEA T 1 44
G an
= 1
T HER T
= 1
FKTHEHY
m3 30
IR T (BRIR) 2.5=W=4.0m
m3 190
IR T (BRIR) 4.0=W
m3 210
R+ (1) 2.5=W=4.0m
m3 50
ket (B 1A) 4.0=W
m3 200
W] Wi Hi% :RC-40, BUF 1 100m m
m2 150
tART— T
m2 100
LRI T
m2 50
Mo L&A AR D LHORH -4 - e U




TR ERARE (AR01)
TH4 | R7B(E ZEP)IMb Brg - BrEF 1 TF GRVFHERR) HEX S 7)1 e fes
THEX5y LR
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e
THEAER #ME
m3 660
FLAHIA
m3 30
K+ 5
% 202
KRBT
= 1
LNPVAE?| ViN KB 0LL 40 (m3/h) i, HEK T
i EEEREHEK
A 6
BRI L
= 1
I B A ARIE - B 0200
m 20
IR A RIE - R ¢500 N=2A
m 60
A T
= 1
SIS AR A B
AH 18
BB THE
= 1
Mo L&A AR D LHORH -5 -

=N

i




=Ry

=Y

RfEZR (AN01)

H

TH4 | R7B(E ZEP)IMb Brg - BrEF 1 TF GRVFHERR) FHEN Sy 7)1 e fes
THEXSy SRR
THX 5y - AR - R - A Bikk HLAZ ¥ (mifa)) e (4m) sl e
IR
= 1
ST
= 1
Hffv & ey
= 1
BEREE T
= 1
HomfErE (FEL)
= 1
il T
= 1
U5 B
= 1
LU
= 1
— A B
= 1
T EAfliks
= 1
THEBIRE K Ol 5 1 e B
= 1
Mo L&A AR D LHORH -6 - T R




T ERTER (401)

T4 | R7M L& B B - 58 L RO PaefRY) FEXS SEIPI S
TEXS e
THFXSy - TFE - FER - A5 ks BAfT o (il HE (5E) Bk T 2
THEEF
= 1

i TR A A E T B TR R -

=N

i



=Ry

=Y

RfEFR (AN02)

H

TH4 | R7B(E ZEP)IMb Brg - BrEF 1 TF GRVFHERR) FHEN Sy A7) A4 - 1
THXSy 7)1 ey
THX 5y - AR - R - A Bikk HLAZ ¥ (mifa)) e (4m) sl e
o)) TS
(FE)1]
= 1
) NHERF L
= 1
)N #MERS L
= 1
A7) A5 1
= 1
[EREMIE: -
= 1
%
= 1
M@kt (G L)
= 1
il T
= 1
Bl E
= 1
TRl
= 1
— A B
= 1
Mo L&A AR D LHORH -8 - TR I




THEERTLER (4R02)

TH4 | R7B(E ZEP)IMb Brg - BrEF 1 TF GRVFHERR) FHEN Sy A7) A4 - 1
THEXSy 7)1 ey
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e

T EAfliks

= 1
THEBIRE K O 5 T e B

= 1
THEGF

= 1

fit TRE TS AET D THRORHE -9 -

=N

i



